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1 « The five following paragraphs are scrambled.

1) First put paragraphs ato e below into a logical order to make a scientific essay. Your ability to organize

English logically is being checked.

a. 200 samples of the XYZ component were taken from the same number of patients infected with
the ABC virus, using a dilated Luongo flap. These samples were then tested for variability twice
weekly over the next six months, The subjects’ '(n::200) forejgn-language  skills were
subsequently monitored for signs of improvement.

b.  Makiyama (2004) was the first fo recognize and map out the relationship between the virus XYZ
and a long-term increase in foreign-language skills. This re/étfonsﬁ/;o has since been confirmed by
Yoshinaga (2005) although researchers have not yet fully understood the underlying
mechanisms.

¢ This research paper seeks fo understand the stimulating effect of trace amounts of XYZ in

- patients suffering from the ABC virus upon long-range improvement in foreign-language skills. I
particular, we will examine the inhibitive nature of XYZ upon Bergeron’s Enclostre.

d.  Although more research needs to be conducted, we can say with confidence that the probability
of Bergeron’s Enclosure being the central mechanism in the relationship between XYZ and the
development of foreign language skills is extremely high. _

e.  The variability test showed 9.55>4.68 hp per 1.73 milliliter of XYZ in 154 of the 200 samples
tested. This seems to indicate a causal relationship.

2) Next, match the following section titles with paragraphs a to e above.

(1) Background
(2) Conclusion
(3) Result -

(4) Method

(5) Outline’

2. « Translate the following email from Japanese into English.
HEEMN EOBBERRIOISATIE BESEOIHAZEEELTEHRS JXVELE, JEMO
EBY., R BENANSERM. AFRE FEEZDRXHELELYELE, DEELTHEH, SEBEEEDD
FEEBFELLLSENTYT, RAFOEEDOLU LY, BEOERF. FUITYF— 3, &R, %0
REEEHET, COHOFAICOELILTE, WHTITEZE S LHIFAAWEBNET, HE 0 IJBF
ETHANICEEWNVEULET,

HPKE KREZEBKERES—



3 « Read the following script and answer the quéstions that follow it in English. The husband and wife are

at home. Kelly, their child, is taking a nap. Your ability to interpret and understand the social side of human
interactions in English is being checked.

Wife: Kelly'’s bike /s still out in the yard.

Husband: Yeah.

Wife: And it’s started raining.

Husband: I didn't leave her bike out in the yard.

Wife: I didn't say you did! I'm just saying that- her bike is getting wet (a)

Husband.: So you'te telling me to get up and put it away.
Wife: No. I'm just saying that the bike shouldn’t get wet.
Husband: (getting up and putting on his shoes) Well, if you notice something like that you could always

get up and put it away yourselfiyy

Wife: I was going to.

Husband: No you werent.

Wite: I think you should notice more when something is wrong and fix it by yourself without me telling
you to.

Husband: Aha! So you really are telling me to go out and put Kelly's bike away!

1) In English, explain why the misunderstanding between the husband and wife occurred. Your ability to
defend and explain your answer and show your understanding of this scene is being checked (use about 50
words).

2) Translate the underlined passages (a) and (b) into Japanese.

4 » Read the following passage and answer the questions below.

For more than 70 years, possession of marijuana* has been a crime in Canada. For most of that time, there
were no exceptions for anyone using it for medical reasons, but in recent years the restrictions have
changed. In the 19305 and 40s, the Canadian legal system averaged just one or two marijuana
prosecutions a year. But as the underground distribution and use of the drug rose, so did the number of
prosecutions. By the late 1960s recreational marijuana use had grown to the point that hundreds, and
eventually thousands, of young Canadians a year were being arrested by police because they used
marijuana. The most recent statistics show that more than 40,000 Canadians are charged with marijuana
possession every year. Marijuana has become by far the most popular illegal drug in the country, with some
surveys suggesting that 10 million Canadians aged 15 or older have used marijuana at least once in their
lives (Canada’s population is about 34 million). But not all marijuana use is recreational. Growth in the



widespread use of marijuana included many people who began experimenting with marijuana’s medical

properties in order to address specific health problems. )

In 19™-century North America, marijuana use was widespread, and it was routinely prescribed for
conditions such as rheumatism* and even sbld in drug stores. The introduction of strict drug laws in the
1930s ended the use of marijuana for any reason—including as a health product. By the 1990s, however,
80 percent of Canadians favored legalizing marijuana use for medical reasons. Many non-profit groups
were formed to make it easier to distribute marijuana to their members, who said the drug provided better
relief from a variety of health complaints than other medications. Some medical marijuana users openly
challenged Canada’s drug laws. One man—Terrence Parker—used marijuana to control his epileptic
seizures®, Parker's lawyers argued that denying him access to marijuana was a violation of his human
rights according to Canadian law. In 1997, a judge ruled that people must be able to access necessary
medical treatment without fear of being arrested.(») The government appealed this case and lost, with the
judge saying that “forcing Parker to choose between his health and imprisonment violates his right to

liberty and security of the person.”

Parker's case set a precedent, but there were still no guidelines on how the few Canadians Who were
exempt* from marijuana possession laws were supposed to get their drug—which, after all, was stil illegal
to distribute. In 2001, Canada became the first country to adopt a formal system to regulate the medical
use of marijuana—the Marijuana Medical Access Regulations. The new policy allowed people suffering from
terminal illnesses or severe conditions such as epilepsy, AIDS, multiple sclerosis*, and cancer to use the
drug if it eased their symptoms. Under strict guidelines, some people would be able to grow marijuana
themselves. Others would be allowed to buy it from companies licensed by the government. Marijuana is
commonly smoked (like tobacco), but many people use it in foods, teas, or with a vaporizer*, One user,
who suffers from chronic pain, uses marijuana to make a body cream for his pain.

The Canadian government has set strict medical and legal conditions for people to be exempt from criminal
prosecution for marijuana possession, and so far only abdut 4,000 people qualify under the new guidelines.
By some estimates, however, hundreds of thousands of other Canadians may also be using marijuana for
medical reasons—illegally.(sy The main reason so few people have applied for the exemption has to do with
the amount of paperwork and time involved in getting official approval. Some people have complained
about the cost of providing themselves with marijuana for medical treatment, the distribution system
through which they obtain their marijuana, and the quality of government-approved supplies of the drug.
Recently, courts ordered the government to pay for the medical marijuana growing operation of a woman
who was too poor to pay for it herself, Even so, eight years into the adoption of the Marijuana Medical
Access Regulations, many activists. remain frustrated with the bureaucracy and the limitations. The
Canadian government has shown little enthusiasm for further loosening the legal restrictions on a drug that

it says still requires tight control.4)




(Adapted from "Marijuana’s journey to legal health treatment: the Canadian experience.” CBC News:
August 17, 2009 )

) marijuana <Y 777 rheumatism U =.—<9-  epileptic seizure TAMAFRIE |
exempt Sfpd B multiple sclerosis Z3{4AE{LE  vaporizer Rfbas, WASR

1) Translate (1), (2), (3), and (4) into Japanese.

2) Put the following items into the correct order to make a true sentence based on the article. The 4" and

7™ items of your sentence will be your answers.

marijuana as / an increase / Growth / a recreational drug / in its use as / was accompanied by

in the / a medical treatment / use of

3) The following three sentences paraphrase complaints that some people in the article expressed about
getting the medical marijuana. Fill in the blanks with a suitable English word.

a) Some people say that the _(1) _is too high and have complained about the method of _ (2) __, the

way of giving out marijuana.
b) It takes a lot of _ (3)  and time to get the government's __(4) _ for medical marijuana.
c) The __(5) of the marijuana controlled by the government isn't very __(6) .

4) In English, briefly explain the terms “recreational use” (of drugs) and “medical use” (of drugs).

Maximum 2 sentences.

5) (@) Write in English 3 examples of illegal recreational drugs besides marijuana.

(b) Write in English 3 examples of legal recreational drugs.
(c) Write in English (in about 80 words) how we should decide which drugs are legal and which drugs are

illegal.
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